* The science of collecting and analyzing data.




UNGROUPED DATA

(3rafiepd Siips)




Mean'(ATEY) = Mj‘-

1 -252 - 28

2. Median (A1) = 'n+|) _(L) 5 ’t/\ol\ o ;?iO

3 Mode (EIF) - Maximuwn Wime=25 G 13, 14 142)25 231790
4. Range (‘IﬁHT) =Max—l\/\7\ﬂ=go_6-_‘7} e———q 4

(; Mean Deviation (HATET ﬁ?ﬁl?-l') J J

o=

—

6. Variance (fa=Ror / Y8R / 9HI01) qlp’ﬂ_Z\'gln/ le—]
7. Standard Deviation (HTeIh:

) MOJ&: 12 R
8. Coefficient of Variation (fa=rereT I0TTh)




25,9, 4, 80, 14,25, /3,47, 25

haorsyt
Oev i odh 7] ;
©) Maan Duwladion (AI6Z1 Breir) 3 19,1452, 1,19,

i
Abed 12 : 28 /= Sumn of duvidign abesd miam
No. of Volues
:_[%‘g
Abp.d Medige 25— O \6,\\,55,\1’0/\7_’1210
= Duw ﬁu (i%”ad“% abga.d' mgé]%
:.IZJ. No. ot VQQM.M
9
[ 4




. AL
® \/mamcﬁ(lam)? 25,9, 14,80, 4,25,13, 47,25

(o>
Veam=28 |Z-%| 21,1452 1421519 %
x
o _ G174 Is6420%41964422 5+ 361+
" N




() Standead doviation (s Breim):
25,9, 1Y, 80, 4 25 13,17, 25

SD—_\]\/mamcy. =[5




(®) g
o{{\ mvb\/madm (Boerrt
T

= SD
= (frackiem) M
¥ nomeni ¢ W SPM
M .) o
Stomd
- D




CONCEPTS: 1,0,2,3,1,1,2,15,0,2
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|. What is the mode of the given data?
57973,7,57,8,6,7

mwmmwm%?
57973757867

sl b) 5 /7 d)3
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2. The mode & median of the data 8,6,8,7,8,6,8,7 6, is:

868786876$ram3ﬁ13=|'f€11$r§
a)7and 8 b)6and7
_§_and7 d)6and 8

6|6l6/ 7 8'?'?'8
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3. Find the median, mode and mean of

9,58,9978,09,8,
9,5,8,9,9,7,8,9,8, H AT, amsﬁt

MQAL:q Sreq T e )‘i
4)9,9,9 9,8,9
Medjoun - %l){eaﬁ 9,8 348,99
278,89, 9499
M@wﬁjo%:g R DY
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Y. Find the range of thedata 2,1,2,3,5,4,7,3,5, 2, 4.
2,A)2,3,5,4(23,5,2,4 % IRET AT F|
a)5 b) 4 c)3 /(f 6

T-l=6
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5. The median of thedata 7,21,2,17,3,13,7,4,9,7,9 is:
7,21,2,17,3, 13,7,4,9,7,9a?r HITCTT T
a) 4 b) 17 /7 d)9

2,3, ‘1,7.7.@‘7 1, 151721
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6. The median of the data —3,4,0,4,—2,—5,1,7,10,5 is:
—3,4,0,4,—2,—5,1,7,10,5 6T ATfeTHT -
a) 2 %2.5 2.75 d)3

—9)’3/’2_/ Q/ Hl,lglz -
—+—r—1

-5 3-2 0

_‘9*_|>»‘;5.54L= 52444
&Q 2 %\3’—2-5

1
1
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~7. What is the median of the following distribution?
42,65,18,69,29,42,48,79,25,24,98,87,63,27,17
faaor & AT Far 872
42,65,18,69,29,42,48,79,25,24,98,87,63,27,17
a) 43.5 b) 65 /42 d) 69

21)21257 ,5‘5““0

GT l) 8‘”‘ ‘2"",+7~
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8. The median of the following numbers arranged

in ascending order is 2. 5, is so find x?

00,11, z, 3,3,4,57

FE FA A cHareyd A e Wt fi
Afeg®12.5 8, @ x AT F:
0,01122x3,3,45,7

a) 2 ﬁs c) 4 d)o

d+x= 5
'Z=7D
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observations of the set is increased by 3, then

Y 9. The median of a set of 11 distinct
observations is 73. 2. If each of the largest five
11 m .L@ I, ecrvation v 3 ther

[ the median of the new set:
13 43 11 e Y& & wH WA HI
177 AfeasT 73.2 3] I WH=AT F W@ 93
U YA A @ ude #f 3 @ @1 =
ST, dY AT HTAT HT ATCIH FIAT gEM?
141 . 2
—_— = a) is increased by 3
2 b) is 3 times that of the original set

Remains the same as that of the original set
d) Is decreased by 3
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| Mo
5 English 55 50D-
Hindi 90 , 85
Mathematics 7{ 70,
Science 8& 1S
Foreign language 90\ 85
5 =192

Stats (ungrouped all)

0. Marks scored by student in

different subjects are given in
the table below. Five marks are
to be deducted from each
subject due to shortage of
attendance. The net average of
the mean, median and mode of
the marks obtainedis___

Wmsraamﬁfﬂr—«rﬁw’rﬁ
yTed 3F AT arfeer F Ru e
8| 3UTRYd &H g & FRUT YdH
YT & yg 3% F& T W B
grcd 3R & AEd, Afegsr 3

TEAF F YEY staa g?
a) 79.33 77.67
c) 82.66 d) 73
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I|. The mean deviation of the data 3,10,10,4,7,10,5, is
3,10,10,4,7,10,5 FT ALY A= §:

49 19 50 8
%04 1049 -7 A= b) 7 7 7

Mean =

L,’Q?, 3/ ?D/O/?)/Z'
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|2. The mean deviation of the data 2,9,9,3,6,9,4
from the mean is:

HATET & 363 2,9,9,3,6,9,4 F [Agasr gom:

42 18 = 50
N‘Qﬂnﬁ:‘— U’—Z; 6
7 ‘4/ -%/ 3l 3_/0, -2/ 2

13
|
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I2. Find the standard deviation of {11,7,10,13, 9}
(11,7,10,13,9} FT A® RFada AT F)|
Mean= _5.59:10 a)1 b) 2 c)4 d) 5

l, 3,03,
S
MDb 1

o9 ,
SD"W B
g =44 5P

C‘O-\l .}A 0.!»«/&% Hve . & /
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I4. Find the(vstandard deviatiﬂof the following

_ data (rounded off to two decimal places).
MQWV\'— 5"’%1"11’7: Lj 5347
"] 9 Arfaf@a est &1 AF [Agad ad
HIfA (A SAHT T aF UITfFa)
53,4,7
20,12 kb 28  a)3.21 %.48
Yy’ u’'yly ¢)4.12 d) 2.45
= 1 7 \ 2%
(X.—’(,l ('11-913'\17% E\ Nﬂ]
I+ Y4493 Sh= MR35 s
ST TTEMR. (2 \gxy(°~x§=ts
Toxy™Y T
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5. The standard deviation of the set {10,11,12,9, 8} is:
(10,11,12,9, 8} &T AAF et §:

Meon= 0+ 1+121418 a) 1 /\/E )2 d) 2v2
5

'—%SE.:m \X-x¢|= 0,1,2,1 2~

_ 2
x| 2 © LM, Y

Nowi = DtltUthy o

P
SD:N:J‘Z
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16. If the standard deviation of a population is 6.5,
what would be the population variance?
e TF TAEEAT F AGF [A€ee 6.5 §,
ShD= /\/ Al STAEEAT FT et AT Fem?
* a) 40.25 /)’/42.25

6-‘3’-f\7 c) 18.25 d) 13
42,25 =V
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sp= v
45= |V

a0.95=V

If the standard deviation of a population is
9.5, what would be the population

variance?’
Ife FTAHEAT FT AFE QA™AT 9.5 ¢,

al STHEEAT FT QA=EIT FAT {12
a)19 /f)’/fao.zs
c) 81.25 d) 93.25
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[8 The variance of a set of data is 144. Then
the standard deviation of the data is:

MHa F TH AT T Q@A=I0r 144 B AR
SD=Jv

= |V ST T AH g
_ a) +12 12 c) 44 d) 72

= +l2_ (A\wwa&20>
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9. The variance of a set of data is 121. Then
the standard deviation of the data is:

HhY & TH A< H1 [EIOr 121 § @

§D¢, V THS HT AF ATl ¢
a) +11 11 c)21 d)60.5
=illl= |l
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29, The mean of distribution is 21 and the
standard deviation is 7. What is the value of
the coefficient of variation?
favor &1 ATET 21 A faaeler
7 8] fa=Ror o F=4m ghem?

a) 16.66% b) 66.66%
3.33% d) 100%

MD
Nor
SD

IOD’( =Cov
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2|. The mean of a distribution is 15 and the
standard deviation is 5. What is the value of
the coefficient of variation?

TH fQaor &1 A 15 g 3R AEs

B faaerer 5 8] R=Ror UnE FT AT F=4T 82
CoV= % xloo a) 16.66% b) 66.66%
) 3.33% d) 22.22%
3
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22. The mean of a distribution is 11 and the
standard deviation is 5. What is the value of the
coefficient of variation?

TF Javor &1 #AteT 11 § 3N AFE QEesT
Sh S ylov= 5 8| RROT JUTiE FT AT FAT g2
Mm 5.45% b) 35.35%

c) 25.25% d) 55.55%
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